September 09, 2013

[Algebra 1-3: Operations with Sets- Union & Intersection ]

Warm-Up

Graph on a number line.

1. x> 6, where x is a real number.

2. x> 6, where x is a whole number. / . g &
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3. x> 6, where x is an integer. I I ’ ‘-»
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4. -2 <x <5, where x is an integer.
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5. -2 < x <5, where x is a real number. <@E=ﬁ#—*—¢-é
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Example Problems
1. A: {0, 1,9, 11, 12, 19) Find ANB. = (\) 1, M)
B:{-3,1,2,4,9,19, 25)
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Make a Venn Diagram to show the intersection of sets A & B.
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2. a) Graph the set of real numbers m < 1
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b) Graph the set of real numbers m >-2. @ —_
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3. You want to bake a cake and brownies at the same time in the oven. The cake
calls for oven temperatures that range from 300 to 350 degrees. The brownies call
for oven temperatures ranging from 325 to 375 degrees.
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a. Describe each interval with an inequality. C P00 NS 350 %€ ||6°
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b. Graph each interval in part a.

c. Describe their intersection with an inequality.
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d. What temperatures are right for both a cake and brownies?
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4. L: {Set of even whole numbers,g Find LNM. = ( 6 3
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M: {Set of odd whole numbers} Find L ”ﬂ‘l&f&’d" Coun ‘)09
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